Successful Top-down Parsing (1)
Consider the grammar 

            G = { N , T , S , P } 

            N = { A , B } 

            T = { a , b , c } 

            S = A 

            P = A  (  aB           
(1)

                B  (  bB            
(2)

                B  (  c            
(3)

Let us try to parse the sentence   abbc
We start with the goal symbol and the input string 

            Sentential form  S = A             Input string      abbc 

To the sentential form  A  we apply production (1) to get 

            Sentential form     aB             
Input string     abbc 

So far we are doing well.  

The leading terminals in both the sentential form and the input string match, and we can effectively discard them from both

This implies that from the non‑terminal   B   we must be able to derive   bbc. 

